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b#a
d[1,1] = min( 0+1, 1+1, 1+1)
di1,1]=1
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a==
d[1,2] = d[0,1]



w Il (S99 |59

OO0~ lWOWIN|F|O

Levenshtein Distanz

n#a
d[1,3] = min( 2+1, 3+1, 1+1)
d[1,3]=2
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blaln|a|n]|e

011({2(3|4|5|6

all({1|1(2|3[|4]|5
n|2(2|2(1(2(3|4
a|l3(3|2(2|1(2|3
n|4(4(3(2|2|1]|2
a|l5(5|14|3|2|2)|2
s|6(6|5[4|3[3]|3
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banans

Ersetzen( e, s)

blaln|a|n]|e

011(2(3|4|5|6

al1(1|1]2]3|4]|5
nl2l2(2]1|2|3]|4
al3[3|2]2]1|2]|3
nl4ala|3]2]2]|1]2
al|5[5|4(3]2|2+2
s|6[6|5|4[3]|3]|3
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-1 b nja|nje
-10T1]2 415|6
all|l|142|3|4]|5
n2(2|12(142|3|4
al3[3|2[|2|142|3
n|4(4(3(2(2|1|2
al5(5(4(3(2]242
s|6(6|5[4|3[3]|3
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Ersetzen( e, s)
Einflgen( a)
Behalten( n)
Behalten( a)
Behalten( n)
Behalten( a)
Loschen( b)

banans

bananas
bananas
bananas
bananas
bananas
ananas
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